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Name ________________________
Time Value of Money

1.  Given some fixed annual percentage rate (APR), what happens to the effective annual interest rate as the number of compounding periods per year rises?

a.  the effective annual interest rate rises

b.  the effective annual interest rate falls

c.  the effective annual interest rate is unchanged

d.  the effective annual rate initially rises then falls as the number of compounding periods approaches infinity
e.  the effective annual rate initially falls then rises as the number of compounding periods approaches infinity
2.  You have just deposited enough into a savings account to be able to withdraw $1500 from the account 4 years from today.  How much have you just deposited if the account earns a rate of 5.5% per year?

a.  $1858.23

b.  $1210.83

c.  $1500.00

d.  $259.87

e.  $1277.42

3.  Two years from today, you plan to deposit $200 into a savings account that pays an interest rate of 6% per year.  How much will be in your account 7 years from today?

a.  $133.01

b.  $267.65

c.  $224.72

d.  $300.73

e.  $149.45

4.  You have just made the first of 12 annual deposits of $150 each into an account that earns 6.1% per year.  How much will be in your account just after your final deposit?

a.  $1800.00

b.  $2545.31

c.  $2700.57

d.  $2850.58

e.  $1250.71

5.  You are considering purchasing a new type of debt security that Dell will issue called an annuibond.  The annuibond will pay you $200 each month for the next 36 months beginning a month from today.  If you need to earn 12% per year compounded monthly, what is the most you would be willing to pay to buy this annuibond?  

a.  $7200.00

b.  $139.78

c.  $8615.38

d.  $6021.50

e.  $1638.48

6.  A year from today you plan to deposit $1000 into a savings account earning an interest rate of 3.5% per year.  After this initial deposit, you plan to make an additional 19 annual deposits.  Because you expect to get raises over time, you plan to increase your deposits by 2% each year.  How much will be in your account just after you make your final deposit?

a.  $33,589.43

b.  $28,279.68

c.  $32,046.01

d.  $16,880.90

e.  $31,046.01

7.  You are trying to decide whether or not to purchase shares of Mega Corp.  The dividend that Mega Corp paid earlier today was $0.35 per share and you expect future dividends (including the one paid 3 months from today) to grow by 1% per quarter forever.  If your required return on Mega stock is 17.4% per year, what is the most you should pay for Mega Corp. stock?

a.  $11.32 per share

b.  $2.16 per share

c.  $11.43 per share

d.  $35.00 per share

e.  $8.63 per share

8.  What happens to the value of a fixed coupon bond if interest rates rise?

a.  it falls

b.  it rises

c.  it may fall or rise depending on the maturity of the bond

d.  it may fall or rise depending on the coupon rate

e.  two of the above are correct
9.  Assume interest rates rise.  What happens to the present value and future value of $100 per year for 20 years?

a.  both the present value and future value remain unchanged

b.  present value rises, future value rises

c.  present value rises, future value falls

d.  present value falls, future value rises

e.  present value falls, future value falls

10.  Six years ago you deposited $1000 into a savings account and you have made no additional deposits into the account.  You just checked your balance and found that you have $1410 in the account.  What rate of return have you earned on this account?

a.  6.83% per year

b.  41% per year

c.  5.89% per year

d.  1.41% per year

e.  Impossible to determine without additional information.

11.  In order to save $20,000 for a down payment on a house, you have just opened a savings account that pays an interest rate of 1% per month.  If you are to achieve your goal, how much must you deposit each month if your first deposit is made today and your last deposit is made 3 years from today?

a.  $664.29

b.  $449.36

c.  $464.29

d.  $555.56

e.  $649.36

12.  You have just paid $100 for a stock that you expect will pay a dividend of $4.25 a year from today.  You expect future dividends to grow by 3.5% per year.  What rate of return do you expect to earn on your investment?

a.  7.90% per year

b.  4.25% per year

c.  7.75% per year

d.  0.75% per year

e.  none of the above

13.  You have just deposited $350,000 into an account that pays you an annual interest rate of 6.5% per year.  If you want to make a total of 20 annual withdrawals from this account beginning a year from today and you want each withdrawal to be 2% larger than the previous one, how large can your first withdrawal a year from today be?

a.  $18,637.50

b.  $26,421.25

c.  $26,906.65

d.  $27,235.35

e.  $31,764.74

14.  You have just borrowed $100,000 and will make monthly payments of $1200 for ten years beginning one month from today.  What is the APR (Annual Percentage Rate) on your loan?
a.  7.75%
b.  14.40%
c.  0.65%
d.  12.00%

e.  8.03%
Risk and Return

15.  You have invested 90% of your portfolio in a stock with a beta of 1.2 and 10% of your portfolio in a stock with a beta of 0.8.  What is the overall beta of your portfolio?
a.  1.89

b.  0.84

c.  1.00

d.  1.16
e.  Unable to determine without additional information
16.  Suppose your goal is to achieve as much diversification as possible when you decide which additional asset to add to your existing portfolio.  Which of the following numbers would help you determine which asset would contribute most to the diversification of your portfolio?
a.  expected return of each asset you are considering adding and for each asset already in the portfolio

b.  standard deviation of returns for each asset you are considering adding and for each asset already in the portfolio

c.  correlations between each asset you are considering adding and the assets already in the portfolio

d.  covariances between each asset you are considering adding and the assets already in the portfolio

e.  betas for each asset you are considering adding and for each asset already in portfolio.

17.  Dell has a beta of 1.6.  If the market risk premium is 8.2% and the return on Treasury bills is 3.5%, what is the required return on Dell?
a.  8.20%
b.  11.70%

c.  16.62%
d.  13.12%

e.  18.72%
18.  Based on the following forecasted data, what is the expected return on Handheld Gaming Inc.?

Economy
Probability
Return
Outstanding
.3
45%

Good
.5
18%

Poor
.2
1%

a.  9.60%

b.  7.57%

c.  21.33%

d.  22.70%
e.  18.00%
19.  Based on the following information, what is the expected return on your portfolio?

Stock
$ Investment
Expected Return
General Mediocrity (GM)
$4000
12%

Accounting Irregularities Gargantuan (AIG)
$6000
18%

Great Expectations (GE)
$10,000
21%

a.  17.0%

b.  18.0%

c.  36.6%

d.  18.3%

e.  cannot be determined from information given.

20.  Which of the following graphs shows a reasonable set of possible risk/return combinations that can be achieved by combining two risky assets into a portfolio?

[image: image1]
a.  graph 1
b.  graph 2

c.  graph 3
d.  graph 4

e.  two of the graphs are possible depending on the relationship between asset returns

21.  Assume you have an initial wealth of $100,000 and that you have borrowed an additional $20,000 at the risk-free rate.  You plan to invest this $120,000 in a portfolio you have created by combining 3 stocks into a portfolio.  If you have combined the 3 stocks so as to allow you to achieve the highest return for any risk you take, how will the standard deviation and expected return on your investment compare to the standard deviation and expected return had you simply invested the $100,000 in the same portfolio of 3 stocks (without borrowing)?
a.  same expected return and standard deviation

b.  higher expected return, lower standard deviation

c.  higher expected return, higher standard deviation
d.  lower expected return, lower standard deviation

e.  lower expected return, higher standard deviation

22.  Which of the following statements regarding risk and return is correct?

a.  Adding Kellogg to a portfolio of stocks contributes more to the diversification of that portfolio if there are already 50 stocks in the portfolio than if there are only 2 stocks in the portfolio.  

b.  The greater a security’s beta, the higher the expected returns on average.

c.  Investing in assets with higher standard deviation of returns will lead to higher expected returns on average.

d.  Risk harmonics, while rare, can lead to a portfolio of stocks having a greater standard deviation of returns than the average standard deviation of returns on the individual assets.

e.  Two of the statements are correct.

23.  What was the standard deviation of returns on ExxudeMobility stock over the past 3 years if the returns for the past 3 years were:  46%, 22%, and -18%?
a.  16.7%

b.  15.1%

c.  33.0%

d.  22.8%

e.  32.3%
24.  Dolt Computer Corp has recently acquired Sonny Handheld Devices.  As a result, the required return on Dolt’s stock has risen.  Which of the following could explain this change?
a.  Both the standard deviation of returns and beta on Dolt stock has risen. 

b.  Both the standard deviation of returns and beta on Dolt stock has fallen.
c.  The standard deviation of returns on Dolt stock has risen and the beta on Dolt stock has fallen.
d.  The standard deviation of returns on Dolt stock has fallen and the beta on Dolt stock has risen.
e.  Two of the above could explain this change.
25.  The standard deviation of returns on Klick Inc. is 37%, on Klack Inc. is 42%, and on the Standard and Poor’s 500 (S&P500) is 22%.  The correlation between Klick and Klack is .7, between Klick and the S&P500 is .3, and between Klack and the S&P is .5.  Based on this information, what is the beta of Klick Inc.?
a.  1.68

b.  0.50
c.  3.08
d.  0.93
e.  1.18
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